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o PV AT B T [ 5 FT-97 7 JRT 7T 16 79T §97 35(11+12+12) &

Please make sure that the printed pages in this question paper are 16 in number
and it contains 35(11+12+12) questions.

o Jo7-7H ¥ e & @ G RF T8 FS THY Tl 6 H OH F-Yikaw F FEI-g8 9T
gy

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T FH TV [iE@T J@ V7 G Yee, 9T H B AT [
Before beginning to answer a question, its Serial Number must be written.
o Fuv-gikaw & & @] g~,/9+ T 881

Don’t leave blank page/pages in your answer-book.

o FTT-GRam & RFT FF T e TE Bl g sravaEdgar & @ G fiar Faw T
#I2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o TR ST AT To JeT-UH YT Haed [@ T To F SARFT FIT-YH YU o FE A T
frd e dafeys 7o & TR T Frdll ST T 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YT J%7 % I 37 @ g4 T FAkEd # A & ge7-97 [ T @& 8, ThEr F ITT 59
G § Fig 4 @ w@hwre Tl A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.
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() T8 Fo7-97 T 9 T frentnT & -

T - & : STYE GEIY Tq e @l
G — § : B G TF [T [a &7 @99
9T - T : FYNHT AGIHT
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e/

(iii) T 97 BT FXT 81 OB 9T B oI IqD GHT FNT TT &

(iv) gABedd 797 1 @ 6 % % @el [4wcd g7 der 797 12 @ 17 7% % v @& a7
g o=l a7 a7 9 e & @ RET i S 595 & FT 3% Sl B AT
difora

(v) Fo7 F&qr 11 797 23 H SR §¢ I7a= &/

208/(Set : A)



(3) 208/(Set : A)

General Instructions :

(i)  This question paper is divided into three Parts :

Part — A : Not-for-Profit Organizations & Partnership Accounts.
Part — B : Company Accounts & Analysis of Financial Statements.
Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Marks of each question are indicated
against it.

(iv) Choose the correct options of the multiple choice type questions 1 to 6 and
answer of questions 12 to 17 may be given in one or two words or
sentences or by filling up the blanks. Answer the remaining questions
according to their marks.

(v) Internal choice is available in Question Nos. 11 and 23.

i - A
PART - A [M.M.:30
(TR HeETE U EEEt @)
(Not-for-Profit Organizations & Partnership Accounts)
1. %4 & G99 6 3 § g=iEl & fepd @ ora IR | ghned T R s
1

(A) TRRRE # TN B

(B) WERERI SN U T T H

(C) WEER i SR i

(D) @ AR &
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On dissolution of a firm, out of the proceeds received from the sale of assets ............

will be paid first of all.

(A) Partners' Capital

(B) Partners' Loan to Firm

(C) Partner's Additional Capital

(D) Outside Creditors

2. BF & GHYY W 999 3 ¥ HH-91 Grar s9ET aney 7 1

(A) FGA e
(B) ®EER & TS @

(C) Hs @
(D) UERER & %O G

On firms dissolution which one of the following account should be prepared at

the last ?

(A) Realization Account

(B) Partners' Capital Account
(C) Cash Account

(D) Partner's Loan Account

208/(Set : A)
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3. UEER & JEHS TeoT HH W @A & TR fhees T @ & HieT & it ? 1

(A) SR TET HIA AN HEHER B

(B) Y TERERI &

(C) |l 9EER &

(D) SWead ¥ q HE

On retirement of a partner, goodwill will be credited to the Capital Account of :

(A) Retiring Partners

(B) Remaining Partners

(C) All Partners

(D) None of the above

4. 0, TIF4:2: 1% AU T AW dicd T TERR &1 AR S F FEH T FA
W T q QO AA AU 3 : 18l A A Wi ST @ g ? 1

(A) 3:13
B) 13:3
(C) 3:1
(D) 12:5

'A', 'B' and 'C' are partners sharing profits in the ratio of 4 : 2 : 1. If the new ratio
of ' B'& 'C'is 3: 1 on A's retirement, then what will be gaining ratio ?

(A) 3:13
(B) 13:3
C 3:1
(D) 12:5

208/(Set : A) P.T.0O.
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5. 5l U gEeR & e § afufad fear o g ®

(A)
(B)

©)

fepdl T TMEER & FeHlT 9
HEERT % SgHA @l Fedia 9
Al QU AEER S el 9

(D) ST § T HE Tl

A new partner may be admitted into a partnership :

(A)
(B)
©)

(D)

with the consent of any one partner
with the consent of majority of partners
with the consent of all old partners

none of the above

6. 3 T WEER AU feRd &I @i H W Aks F A B, A 39 I A ST FAq

(A)
(B)
©)
(D)

i an &
T TR B O A
s @ &
W R 3 T A

: A)

When a new partner brings his share of goodwill in cash, the amount is debited

to:

(A)
(B)
©)
(D)

208/(Set

Goodwill Account
Capital Account of New Partner
Cash Account

Capital Account of Old Partners

:A)
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7. WEHEH GG @l STPURART § S BN drell HEErd A TEH bl el v e w1 Sw
i1 2

Mention any four provisions of the Partnership Act, in the absence of
Partnership Deed.

8. f=fafed gammell & gR W a¥ 2017-18 & G- i H HisT 8N dard I= &l T

HIfeT 4
3

() a9 I g G : 80,000

(i) 31-3-2017 F & T : 26,000

(ili) 31-3-2018 @ 3T&W Tl : 6,000

(iv) 31-3-2017 & ¥ o< I=1 @ 15,000

(v) 31-3-2018 & ABH oG a1 @ 10,000

From the following informations calculate the amount of subscriptions to be

credited to Income and Expenditure Account for the year 2017-18 :

N
(i) Subscription received during the year : 80,000
(i) Subscription outstanding on 31-3-2017 : 26,000
(iii) Subscription outstanding on 31-3-2018 : 6,000
(iv) Subscription received in advance on 31-3-2017 : 15,000
(v) Subscription received in advance on 31-3-2018 : 10,000

208/(Set : A) P.T.O.
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9. ‘0 3R ‘G UH HH & TEER &1 I ¥ [l U 5 @ 3 Bl 1-4-2021 & AT

B 1/8 AM & [T GRER ST T R I/ TR & % S/ @ & 75,000 T q 9 Tl

B 0 SR ‘R AT AW ST GRET & e qd AR & A TR TR & @ Ay

AR 32 FH AGAA A TeT B B [T TEAd U 31-3-2022 H TG a¥ F U
%1 F AW 4,00,000 X &Ml

31-3-2022 FH GHTT BF a1 99 B [0 A-ai [T @ G R &) 4

'P' and 'Q' were partners in a firm sharing profits in the ratio of 5 : 3. On 1-4-2021

they admitted 'R' as a new partner for 1/8th share in the profits with a guaranteed
profit of ¥ 75,000. The new ratio between 'P' and 'Q' will be same but they agreed
to bear any deficiency on account of guarantee to 'R' in the ratio 3 : 2. The profit
of the firm for the year ended 31-3-2022 was ¥ 4,00,000.

Prepare Profit and Loss Appropriation A/c for the year ended 31-3-2022.

10. 1-4-2020 H TF =G GH & TRmEr 2,00,000 2 o FEH 4,000 % @ Iws A af
39 o % 38& TER 10,000 X & &1 WEER & Eoff @@ F 1,60,000 X H A9 o1
AR AT E51 30,000 X & 91l AR G B WA & 15% B AR AR & 3 a9y
HA T T H ST B G 36,000 % &, A BH & G AN S Bl 4

On 1-4-2020, an existing firm bad assets of ¥ 2,00,000 including cash of ¥ 4,000.
It creditors amounted to ¥ 10,000 on that date. The partners capital accounts
showed a balance of ¥ 1,60,000 while the general reserve amounted to ¥ 30,000. If
the normal rate of return is 15% and the goodwill of the firm is valued at ¥ 36,000

at 3 years purchase of super profit, find the average profits of the firm.

208/(Set : A)
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(9)
11, T qur ‘S o @ B 2: 1 ¥ afed §, @ 31-3-2018 P Rafy fawer Ffataa ®
G P 3 Rt §

o STttt 15,000 | IT&R 40,000
e iy 12,000 | Y@4M €@l - 3,600 36,400
CREES 20,000 | €& 20,000
Tl AT 40,000 | fafesT 25,000
T B 30,000 | ¥a= 2,000
ENIERY 33,600
1,17,000 1,17,000

1-4-2018 & IBH G’ H AEER H AFHC fpan a1 A9 o a3 : 2 ¢ 1 8
Fopfifere EHRISTTST & a1e 6 ST oit A ©

(i ‘@’ 10,000 % Efq & o1 fRe & forg e # @ R
(i) W T SRSH H 2,000 T § T &
(i) TH QU TEIEX o T T 2,600 X 31 TE JWH H el f@r g 21 3@ 9.

g&ih | fore B
(iv) UHE P I H B

(v) SRl q 2% B¢ Pei @ GHE
g @, T @ oY IR foge & SRy

208/(Set : A)
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'A' and 'B' sharing profits and losses in 2 : 1. Their Balance Sheet as on 31-3-2018

is as under :

Liabilities 3 Assets 4

Bank Overdraft 15,000 | Debtors 40,000

Reserve Fund 12,000 | Less Provision - 3,600 36,400

Creditors 20,000 | Stock 20,000

Capitals : 'A’ 40,000 | Building 25,000

Capitals : 'B' 30,000 | Patents 2,000

Machinery 33,600

1,17,000 1,17,000

They admit 'C' into partnership on 1-4-2018. New profit sharing ratiois 3 : 2 : 1.

'C' brings in proportionate capital after the following adjustments :

(i) 'C'brings in ¥ 10,000 in cash as his share of Goodwill.
(ii) Provision for doubtful debts is to be reduced by ¥ 2,000.

(iii) There is an old typewriter valued ¥ 2,600. It does not appear in the books of

the firm. It is to be shown now.

(iv) Patents are valueless.

(v) 2% discount is to be received from creditors.

Prepare Revaluation A/c, Capital Accounts and Opening Balance Sheet.

208/(Set : A)
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Uk TEER & g & H I6% B & A & T F7A B At Rl & sam
|fed aui B

Explain with examples various methods of computing the share of profits in case

of death of a partner.
-9
PART - B [M. M. :30
(=t @a e o et @ e

(Company Accounts & Analysis of Financial Statements)

12. SRRA o ofR Joia Hed # g% o 1

Give one point of distinction between Reserves Capital and Capital Reserve.

13. FAaH AEH & F1 drd 2 1

What is meant by Minimum Subscription ?

14. T FUA q90 40 8 7 1

What is Zero Coupon Bond ?

15. 1 afd, 2021, & ‘T [@fRs’ 100 T 9 5,000; 8% RIS 5% el WX R fhu
31 #rE, 2022 Pl GG a9 & o0 Fol AT feberem B ? 1

On 1st April, 2021, 'A Ltd.' issued 5,000; 8% debentures of ¥ 100 each at a
discount of 5%. What will the total amount of interest for the year ending
31st March, 2022 ?

208/(Set : A) P.T.O.



16.

17.

18.

19.

20.

21.

(12) 208/(Set : A)
Th H & (el & G fqaeen & W e 1

Name any two financial statements of a company.

R ARl & & IETeeT Ay 1
Give two examples of non-current liabilities.
Sl g RO HE @ =) 2

Give any two points of distinction between a share and a debenture.

‘T fafee’ T T 25,000 ¥ & O @ B Agfic & GO @@ & [T 20,000 X B
o H R e S afaftedr i 2

'A Ltd." Company issued ¥ 20,000 debenture for a capital expenditure in
satisfaction of his claim of ¥ 25,000. Pass Journal Entries.

FRSA T 6,00,000 3; MR 3F 1,80,000 3 M T M 9a@l 20,000 I 2
Tl AT 1 T I 2

Working Capital ¥ 6,00,000, Trade Payables ¥ 1,80,000 and Other Current
Liabilities ¥ 20,000. Calculate Current Ratio.

FrfaRad fqexen 9 ag Tfaiedl § T6dl Jae @ IO S - 4

1-4-2020 31-3-2021

G99 ug "M (W.D.V.) 7,20,000 8,60,000
e -

() @Y & SR A T FEEH 85,000
(i) 1,10,000% % W.D.V. a@l @ie 1,25,000 % § =1 T4

208/(Set : A)
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23.

(13) 208/(Set : A)
Calculate Cash Flow from investing activities from the following particulars :
1-4-2020 31-3-2021
Plant & Machinery (W.D.V.) % 7,20,000 ¥ 8,60,000
Informations :
(i) Depreciation charged during the year ¥ 85,000.

(ii) Plant and machinery having Written Down Value (W.D.V.) of ¥ 1,10,000 was
sold for ¥ 1,25,000.

Fr=fafad gemell § Wb T SIur 5 i 4
§

(i) IR TBiaa : 28,000

(i) oAf~w TEfoar : 52,000

(iti) G RSt | ST : 6,00,000

(iv) H®d @H : o et @ aFa @ 25%

From the following calculate inventory turnover ratio :

N
(i) Opening Inventory : 28,000
(ii) Closing Inventory : 52,000
(ii) Revenue from Operations : 6,00,000
(iv) Gross Profit : 25% on cost of revenue from operations

‘T FE A 10 T 9 1,00,000 Y T BT S TH FBR 3F & 3 T I@ET W, 2.50 T
e T, 2.50 T YUY IraMl GX &I 2 ¥ a9 I W S 7 1,52,000 St & faw
e A9 1,50,000 S & SAEEhH B TG SAEN G AW {HA TN Th HAE
foTge T 200 A & AT R BN RN el BT RN FT A H1 AT HT foran T
A TG YW AT B T STURIT Y MY el H 9 T URY Sy W 8 T FHal AN §Y
ga: fee & Ran mm st A T8 TR R B S wfaftedt St 10

208/(Set : A) P.T.O.
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'A" Company offered 1,00,000 shares of ¥ 10 each payable as : ¥ 3 on application,
% 2.50 on allotment, ¥ 2.50 on Ist call and X 2 on the final call. The public applied
for 1,52,000 shares. The shares were allotted on a prorata basis to the applicants
of 1,50,000 shares. All shareholders paid the allotment money except one holder
holding 200 shares. These shares were forfeited. The first call was made
thereafter. The forfeited shares were reissued @ ¥ 9 per share ¥ 8 paid up. The
final call was not yet made. Pass Journal Entries.

HAYAT

OR
S & &1 B o o § ? e Y W oief & & ofX i @ Aot wfaftest
PISTT| I Fied FHAZT

What do you mean by Forfeiture of Shares ? What journal entries are passed for
forfeiture and reissue of forfeited shares ? Explain with an example.

AT -9
PART - C [M. M. :30

(Frgele i)

(Computerized Accounting)

12. DBMS & Q9 &9 #2718 ? 1

What is the full form of DBMS ?

13. STEY SifsiFed B TH JARE S S & §I8 HT o 1

Name of database object to hold data.

208/(Set : A)
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14. 39cH & o9 G99 § ST fhU I A T & @B ... el Sl Bl 1

The common fields used in a relationship between tables are called ............ .

15. FO S RO .oovvvennn.. R % F Yeiid fhar o g B 1

The result of Query can be displayed by clicking on ........... .

16. TGiHT Yol [5H YHR H GFedaT 2 7 1

What type of software is an Accounting Package ?

17, eeeieennn.. Hiedmeher ®l STaeTwdr 2 1

The need of codification is .............. .

18. HYgd qQHT 1§ ¢ 2

What is Computerized Accounting ?

19. STl & URAING HIfT TR 39% YHN Id13U) 2

Define Data and name its types.

20. FYTAH oGl T BRI AR gd @ Rure &1 & 7 2

What are the basic accounting reports prepared by Computerized Accounting

System ?

208/(Set : A) P.T.O.
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21. TEEY Y&g9 JOMel (DBMS) & el &7 Sl &1 av it 4

Describe any four objectives of DBMS.

22, FYIUEH a@iwT Tl & gl S8 R S 8 ? 4

How to prepare Balance Sheet in Computerized Accounting System ?

23. BT § Ffcd, HA g G0 B S g B H TRRT & a0 i) 10
Explain the process of inserting and deleting a column, rows and cells in
Spreadsheet.

HYqT
OR

Sedfic F1 7 ? 36D FET H AU BT

What is Spreadsheet ? Describe its functions.

208/(Set : A)



